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Carbon Sequestering

N
s Carbonis lost back to the
s atmosphere through respiration
, and decomposition of organic
. matter
| O
]
Atmospheric carbonis '
fixed by trees and (] N
other vegetation (] Carbon is lost to the
through (] atmosphere through soil
photosynthesis . respiration

Aboveground
carbon:

» Stem
» Branches
- Foliage

{-=cccccccccccca=a.

Some carbon is

[ ]
: ]
flntemz”'f transfe:l'ed Fallen leaves and
rom aboveground to branches add
belowground.

carbon to soils

Carbon to soils. . .
{ ] L]
] L]
2 v v
7R R >
-
Belowground Some carbon is D Solid Carbon:
carbon: transferred from 52 J = Organic
* Roots belowground carbon = Inorganic
+ Litter (e.g. root mortality)

to the soils






